
RQ-BK-3 Installation Instructions
Page  of 1 2

                             SEE PICTURES ON PAGE 2 FOR INSTALLATION REFERENCE

Step 1 - Insert (3) Rubber Grommets into headlight assembly


Step 2 - Insert (3) Grommet Sleeves - Note the direction of the sleeve above with RED arrows


Step 3 - Insert (1) M6 x 25mm bolt thru Bracket B and secure with M6 nylon nut

            - Note the direction of the bolt above with BLUE arrow


Step 4 - Insert (1) M6 x 30mm bolt thru Bracket A and secure with M6 nylon nut

            - Note the direction of the bolt above with YELLOW arrow


Step 5 - Secure assembly to frame with (2) M6 x 30mm bolts

            - Note the direction of the bolt above with GREEN arrow




RQ-BK-3 Installation Instructions
Page  of 2 2


